Question No : 1 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

& software that allows an operating system to mteract with a hardwate dewice 1z called

Answer | Please select your correct option’)

Compiler
P

Linker
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Question No : 2 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

If a uzer 1z using CGI scnpt on a TNEX server, then the script type 1 called

Answer | Please select your correct option )

Client side scripting

=erver side scripting

(@ '\/'—"'

Stand-alone scnphing

GUT scripting
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Question No : 3 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Today’s fastest computer can do

of calculations m a second.

Answer | Please select your correct option’)

-

Thouszands

EBillions

Trillions
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Question No : 4 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

TWhen we run a program i a computer, the actual execution of the program takes place in

Answer | Please select your correct option’)

EAM

2 \_,-—-"—'—-‘-'_

ECM

Wicroprocessor

Hard Tusle
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Question No : 5 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

Processing speed of a super cotnputer 15 measured

Answer | Please select your correct option’)

Giga Hettz
P

Miillions of structions per second
(o]
- Trillions of loating point mstructions per second \/ SZETT;E’%ZZ?;EZ by hadi
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CQuestion No : & of 26 Marks: 1 (Budgeted Time 1 Min) (=]

e

TWeb 13 a unique mvention by humans i tertms of it 15

Answer | Please select your correct option )

accessible to all humans

o \_’___,_--‘"

accessible to only the educational matitutes

=

accessible to only the owners who control it
)

accessible from particular locations only
o
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Question No : 7 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

WWhich one of the following 15 not a sutable option when we talk about JavaScript language?

e

Answer | Please select your correct option’)

-

Obiject based language
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Question No : 8 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

E represents the

element of flow chart.

Answer | Please select your correct option )

Proces

Input
s \/

Display

Connector

Yeade By: Wadgar Siddhu




Question No : 9 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The default style of text to represent a hyper link in a web page is

Answer | Please select your correct option’)

Eed and Italic
-~

Black and Underhned
(&

Green and Bold
{2

Blue and Underlined
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Question No : 10 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

“Which of the following swnbol 15 used in JavaZcnpt to add multiple ne comments i a program?

Answer | Please select your correct option )

!

i

f*

f*
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Question No : 11 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

& developer analyses the user's requirements, performs firther nvestigation, and produces unambiguous specifications in

step.

Answer | Please select your correct option’)

-

Plantung
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Question No : 12 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

cotnputers have low power consumption processors,

Answer | Please select your correct option )

Personal

Laptop
& \-/

Super

Wain Frame
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Question No : 13 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

A new cellis added in atable row by using

tag in html

Answer | Please select your correct option’)
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Question No : 14 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

Antl Virgs software is a kind of . -

Answer | Please select your correct option’)

TTility Program

£ \/_,__

system Software

Device Driver

Freeware

Yeade By: Wacdgar Siddhu




Question No : 15 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

Ifthere are multiple programs runming on my PC having wandows 2B, then it refers to:

Answer | Please select your correct option’)

Wultt Uszer
P

=ingle Tser

Smgle Uset, Multltask.mg Correct answer solvad by hadi
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Question No : 16 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

e

Suppose a web developer wants to permut the user to make rmultiple selections from the list of 5 ophions on a web page. "Which type of elemnent will he use for this situation?

Answer | Please select your correct option )

Check box

Textbox

Fadic button

Text area
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Question No : 17 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

WWhich operater 15 used te cotnplement the given value?

Answer | Please select your correct option’)

CR
s
HOE
(o]
AND
{
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Question No : 18 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

If we apply the Bubble Sort algonithm on an array of  elemenis, then what will be the mumber of compatizons m the first pass?

Answer | Please select your correct option’)

5
P
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Question No : 19 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

Tou cannot close Microsoft Word 2003 by . -

Answer | Please select your correct option )

Choosing File menu then Exit command

&

Pressing At+E4
=

Clickung X button on title bar
)

Choosing Close submenu from File menu
el M
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Question No : 20 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

Tezually there 15 only a single hard drive in a computer but you can insert hatrd drives i a modern PC. -

Answer | Please select your correct option’)

Only One
~
Oy Twro
o
Only Three
r
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Question No : 21 of 26 Marks: Z (Budgeted Time 4 Min) (=]

Correct the httal code for Password mput field: -

<INPUT category="password” name="name” size="widthInCharacters”>

Answer | Please click here to Add Answer )
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Question No : 22 of 26

Identify an object and a method in the following JavaScrpt statement

Marks: 2 (Budgeted Time 4 Min)

Window. cloze()

-

Answer | Please click here to Add Answer )
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Question No : 23 of 26 Marks: 3 (Budgeted Time 6 Min) (=]

An application doesn’t need to know about the exact plivsical characteristics of the drive where it stores data. Ezplam itz reason.

Answer | Please click here to Add Answer )
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Question No : 24 of 26 Marks: 3 (Budgeted Time 6 Min) (=]

Write down three main paratneters on which you will select a programming language to solve a particular problem?

Answer | Please click here to Add Answer )
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Question Mo : 25 of 26

arks: 5 (Budgeted Time 10 Min)

=

Mame the programming technique that 12 used to activate a procedure on an event occurrence. Also mention its way of worlung,

-

Answer | Please click here to Add Answer )
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Question Mo : 26 of 26

arks: 5 (Budgeted Time 10 Min)

=

IFyon are asked to perform analysis of an algorithm then explain which twe parameters will wou consider the most important to analyze the algonthm?

-

Answer | Please click here to Add Answer )
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